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Exercise 1.1
Let A:D(A) — H be a densely defined operator. Show that

1. A* extends A if A* is also densely defined.
2. Ais bounded if and only if A* € B(H). In this case one has ||A*|| = || A]|.

3. A*™ is the uniquely determined continuous extension of A to the whole H if A is bounded.

Exercise 1.2

1. Suppose A : D(A) — H is closable and injective. Show the following assertions.
(a) A~!is closable if and only if A is injective. In this case, one has A=1 = (A)~L.
(b) If A is injective and (A)~! is continuous, then ran(A) = ran(A).

2. Suppose A : H — H is a bijective operator. Show that

AT = inf [lAQ.
ver,vl=1

3. Show that if A is self-adjoint and injective, then A~! is also self-adjoint.

Exercise 1.3
1. Let T : D(T') — H be densely defined and closed. Show that

p(T*)={ze€C:zep(T)} and o(T*)={z€C:zec0(T)}.

2. Let S : D(S) - H and T : D(T) — H be bijective operators. Show the following
assertions.

D(T), then T™' — S~' =TS —-T)S~ "
D(S), then T7! — =t =SS —T)T~".
(¢) T D(T) = D(S), then T~ — §~1 = T=1(S — T)§~! = S~L(§ — T)T~.

3. Let T': D(T) — H be closed. Show that

1

1T =272 G om)

ze€p(T).



Exercise 1.4
Let A € B(H). Show that o(A) C {z € C: |z| < A}

Exercise 1.5
Let A:D(A) — H be a densely defined symmetric operator. Show that

1. A has no non-real eigenvalues and
2. eigenvectors of A associated with different eigenvalues are orthogonal to one another.

Remark: This does not imply that two linearly independent eigenvectors to the same eigenvalue
are orthogonal. However, it is no restriction to assume that they are since the Gram—Schmidt
process gives an orthonormal basis for ker(A — \).



